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[1] DIN(ug-at. L) No. 1
H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 104 R3 3
10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/18 | 10/17 | 10/16 | 10/15 | 10/20 | F# | 10/19 AH
6.0 | 1.5 | 2.4 | 2.3 51 47| 47| 41| 1.3 3.6 i BT H A
41139 33| 55| 54| 45| 58| 08| 42] 20 |= H|7 54
it BT h A
.5 6.5 = e 1|7Hh A
.6 6.6 = e 2|7 H A
4121|3854 (40| 49| 53| 455009 43] 3.4k & 1| MIHA
= 1|7Hh A
= 2|7 h A
5.5 | 5.7 4.7 | 6.3 7.2 | 2.9 | 5. 58 | M H®E 1|7h
6.3 | 8.2 5,0 | 3.2 4.2 109 | 47 ] 36 |" M B 2(7h*
4.2 3.5 3.8 o s Fa| 7 5 A
2 b 1|7Hh A
2 b 2|7 H A
g2 b1 3|7hA
53| 06| 36| 6.9 (27| 04| 27|32 ]|125| 0.4 3.8 E ) 1|40/
53| 0. 50 (1151270223 26| 57| 0.4/ 3.6 E = 2|y
5210156 22|28 10| 23|36 99]|01]33 E = 1CA=PA)]
6.9 | 5.8 | 3.4 | 43| 0.2 4.1 E ) 4|41/
7.8 | 1. 7.1 1 2.0 0.7 | 6.7 [19.3] 3.8 | 1.1 | 5.6 i N 1|8/
7.6 | 0.3 | 10.5]17.6 0.4 65|32 ]|42] 05|57 i N 2|y
5.5 | 2.8 | 5.6 | 18.4 3.8 1249 6.7 | 41 ] 07 8.1 i N 4|4/
9.9 16. 1 1. 17.31 9.7 | 86 [ 6.0 | 1.1 | 88| 1.1 |fn B & @®7Hhx
10.8 13.5 4.6 | 8.6 | 8.5 | 10.1] 9.1 93] 26 |In B B Q7hA
10.2 12.3 51 | 5.9 [ 6.1 | 51 ] 8.9 .71 20 |sn B B VA4
0.6 |fn A B @|7h+
8.5 14.31 5.3 | 5.8 | 6.2 8.0 5 = PIB
7.7 1.1 113.0]10.1) 2.2 | 7.2 | 2.5 | 5.7 1. 56 | 2.7 |5 b 1|40/
7.8 | 1.0 | 10.9] 1.9 | 2.2 | 5.4 | 229 | 5.6 | 12.4 | 1. 511] 0.8 |5 b 2|y
7.1 1.2 1 9.8 | 2.0 5.8 59 |1 42 0.7 | 46| 0.8 |+ =] 2|y
10.7 10.7 & B|7AhA
6.1 6.5 | 49| 1.9 | 6.2 | 40| 4.5 0.5 43| 0.8 |& #t 1|7Hh A
46 | 3.8 | 1.9 71| 25| 40 3.8 08| 36] 1.2 |= #t 2|7 h A
551 10| 39| 43|31 (33] 34| 49| 44| 1.4(35] 1.0 |+ =P
37.6 42.9 | 53.7 24.8 | 78.7(44.7122.1 |1 11.2|139.5| 7.7 |&H 1 (XRB)|RSTH
12271109 | 11.8| 7.7 |& & Il 1 0.5m|(RST7H
11.0110.8 | 10.9| 7.6 |& %l 1 (1.0m[RSTH
35.2 43.6 | 47.7 25.8139.5(32.3| 9.5 | 6.4 |30.0| 2.8 |[ZFHl2(XBEIRSTH
8.4 | 48| 6.6 2.7 |E& I 2 0.5mRCT7H
8.6 | 22 | 54 ] 24 |EH 2 (10mRSTH
30. 1 41.3 | 45.0 25.3[41.6(35.4(25.9] 9.2 |31.7] 3.5 |[&ZFHIN3(XRBE)|RSTH
16.6 | 9.4 | 13.0| 3.6 |& % )il 3 (0.5m)|(RS7H
9.3 | 7.0 | 8.1 4.3 |EH N3 (1L.mM|RSTH
1471147 1.8 |EHIN 4 (RB)|RSTH
14111411103 |E & 4 0.5m|RCT7H
9.2 9.2 6.6 |= % )l 4 (1.Om|RTCTH
16.3 [ 16.3 | 10.7 |E&H 5 (RB)|RCT7H
16.3 [ 16.3 | 11.0 |F % ) 5 0.5m)|RT7+4
14314315 |EH 5 (1.0m|RSTA




[2] Y (ug-at./L) No. 1

H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 104 R3 F
10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/25 | 10/25 | 10/23 | 10/23 | 10/20 | FE#5 | 10/19 AR
0.80 | 0.39 | 0.81 | 0.81 0.59 1 0.91]0.68]0.74 | 0.46 | 0.69 il oA A
1.25 [ 1.25 | 0.81 | 0.60 | 0.97 | 0.63 ] 0.96 | 0.33 | 0.85 ] 0.52 |& H|7H A
it Bl7AH A
0.76 0.76 = b 1|7H A
0.82 0.82 = b 2|7Hh A
0.92 1 0.52 )1 0.67)0.67|0.77]0.66|0.98|0.67(0.75(035|0.69]0.49 |o)k # 08 PFThA
= 1|7H A
= 2|7H A
0.68 | 0.68 0.93 | 0.98 0.62 [ 0.78]0.49 & FM B 1|7H*
0.85 | 0.85 0.71 ] 1.28 0.32(0.80]|0.47 | M B 2(7h
0.54 0.53 | 0.53 0.53 i s P A
2 i 1|7H A
2 i 2|7Hh A
2 i 3|THA
0.6310.32]10.59]0.59]0.52]0.41(0.67(0.22|0.59]|0.26 | 0.48 £ R 1oy
0.61]10.25)0.63 ]| 0.63]0.53]0.33[0.73[0.230.58/|0.25]0.48 £ R 2|0/
0.62 | 0.05)0.64 | 0.64 ] 0.55| 0.54(0.76(0.290.60 | 0.21 | 0.49 £ R 3lyo/
0.40 | 1.05 ] 0.30 | 0.63 | 0.23 | 0.52 £ R 4l Yy
0.72 10401 0.71 1071 0.66 | 0.71 1 0.92 | 0.59 [ 0.29 | 0.63 i ] 1l#a/y
0.72 1 0.10 | 0.66 | 0.66 0.50 1 0.7410.20 | 0.67 [ 0.24 | 0.50 i ] 2|0/
0.61 | 0.46 | 0.62 | 0.62 0.57 | 1.4310.19 | 0.58 [ 0.28 | 0.60 i ] 4l Yy
0.66 0.79 |1 0.79 | 0.54 0.34 (062103000 A & @7h
0.69 0.51 ] 0.51 | 0.55 0.56 1]0.39|sn B B @7hHA
0.69 0.52 | 0.52 | 0.56 0.57]10.42 | @B B Q7hHA
0030 | B B @7Ah
0.60 0.63 | 0.63 | 0.67 0.04 | 0.59 0.52 5 (7 H A
0.62 [ 0.39 | 0.63 | 0.63 | 0.52 | 0.24 | 0.93 - 0.60 | 0.31 ] 0.5410.24 |5 # 1l#a/y
0.59 1 0.37]0.59| 059 |057](0.22]0.86 - 0.5710.33]0.5210.27 |5 b= 2|0/
0.53 ] 0.34 | 0.61 | 0.61 0.3911.01]0.07]0.72]0.36 | 0.52]0.30 |+ B 2|0/
0.75 | 0.75 0.75 & BlonA
0.58 0.50 | 0.50 |1 0.46 | 0.24 | 0.71 | 0.14 | 0.44 | 0.23 | 0.42 | 0.27 |&& # 1|7H A
0.4910.49)0.45)0.38]0.76 | 0.12 | 0.55| 0.24 | 0.43] 0.28 |&& # 2|7Hh A
0.58 | 0.33 ] 0.42 | 0.42 | 0.46 0.7510.20 | 0.56 | 0.41 | 0.46 | 0.29 |+ - \A=PA)
0.48 1 0.3410.29 | 0.29 0.74 1 1.05 1 0.71 1 0.79 | 0.60 | 0.59 | 0.04 |E&H I 1 (RE)|RZTH
0.8 0.6 [ 0.72 1 0.05 |&= & )il 1 (0.5m|RITA
0.8 0.6 [ 0.71 1 0.03 |&=% )1 (A.0mRTA
0.59 ] 0.40 | 0.27 | 0.27 0.76 | 1.12 1 0.57 1 0.75 | 0.48 | 0.58 | 0.12 |E&H I 2 (R B)|R>TH
0.9 0.5 [ 0.68]0.11 |&F %)l 2 0.5m|RTTA
0.8 0.4 [ 061011 |E% )2 (q.0mRZTA
0.5410.34] 0.30 | 0.30 0.97 1 1.01 ) 0.58]1.38 | 0.53|0.66]0.03|5%F)I3(KE)RZSTH
0.8 0.6 [ 0.71 1 0.02 |= & Ju 3 (0.5m|RCT7A
0.8 0.5 [ 0.66]0.04 |&% )l 3 (A.0m|RITH
0.54 1 0.5410.09 |84 (RB)RDTH
0.53 1 0.5310.15 |&F % JIl 4 (0.5m|RTT7H
0.52 1 0.5210.02 &%)l 4 (A.0M|RSTH
0.62 1 0.62 ]| 1.16 |[&2H 5 (RB)|RACTH
0.59 1 0.59 | 1.18 | % Jil 5 (0.5m|RT7H
1.22 | 1.22 | 1.27 |Z % 1l 5 (1.0m) [RETFH




(3] XKk & No. 1
H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 106 R3 3
10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/25 | 10/25 | 10/23 | 10/23 | 10/20 | =y | 10/19 AH
22.0122.0| 23.0 | 23.0 22.4| 22.5 # FloHh A
23.0 | 22.4 | 22.7 2 |77+
it a7 H A
= b 1|75 A
= b 2| A
2211 22.7 1 22.7(22.7|22.8|21.0(22.7|23.5|22.4|225]|23.5 |k ® B, FM7H
= 1|75 A
= 2| A
e M OB 1|TAA
s M OB 2784
# s F| 7 5 A
B b 1|75 A
B b 2| A
B b 3|THA
2201 22.4 | 225|225 21.9]22.0|21.0]21.9| 225|220 22.1 & I 1|yo/ Y
2201225220220 21.9|21.9|21.0]21.9| 22.4 | 21.9| 22.0 & I 2|yn/ Y
21,91 225|220 220 21.8 | 21.8|20.8|22.0| 22.4 | 21.6| 21.9 & 3 3ym/y
21,71 21.0 | 21.8  22.3 | 21.6 | 21.7 E I 4lyn/y
21,51 21.5 | 22.0 | 22.0 21,0 | 21.5 1 20.8 | 22.6 | 21.6 | 21.6 Il N 1|yo/ Y
21,51 21.8 | 21.8 | 21.8 22.2 (1 19.8 | 21.2 | 21.6 | 22.2 | 21.5 Il N 2|yn/ Y
21.2120.5 | 22.5 | 22.5 20.8 | 20.0 | 21.5 | 22.2 | 21.2 | 21.4 Il N 4lyn/y
20.6 | 20.6 | 20.3 2000 (20.4]123.2 /0 B B @7HA
21.0 | 21.0 | 21.0 210,01 21.9 |fn B B @|7h+
21.0 | 21.0 | 21.0 210,01 21.8 |fn B B Q|7H+
21 |1 B B @7Hx
5 AP B
21.2 1220 21.0 | 21.0| 20.0 | 21.0 | 17.8 |1 20.0 | 21.2 | 20.0 | 20.5 | 22.2 |& = 1|yo/ Y
21.2 1220 21.0 | 21.0| 21.0| 21.0 | 18.0 | 20.0 | 21.2 | 20.0 | 20.6 | 22.2 |& = 2|yn/ Y
21.0 |1 21.3 | 21.8 | 21.8 21.0 1 18.0 | 22.0( 2220 | 21.0 | 21.1 ] 23.0 | B 2|yn/ Y
] B|7Hh A
& # 1|75 A
& # 2| H A
22.0| 21.0 22.2121.0 | 19.2 | 21.6 | 22.9 | 21.0 | 21.4 ]| 22.3 |+ A=A
18.8 | 17.8 | 18.9 | 18.9 200 | 13.3 | 18.5( 20.7 | 18.4 | 18.4 ] 20.6 |Z&H I 1 (RB)|RSTH
21.3 1 18.5 | 19.9 ] 20.7 |& % )il 1 (0.5m|RST7H
21.6 | 18.7 | 20.2 | 20.8 |&= % Jil 1 (1.0m|RSTH
19.1 1 18.0| 19.0 | 19.0 19.8 | 13.2 [ 19.0 | 21.0 | 19.8 [ 18.7 | 21.2 |[EHB I 2 (RB)|RCT7H
21,11 19.9 | 20.5 | 21.3 |& % )il 2 (0.5m|RST7H
21,11 20.8 | 21.0 | 21.4 |&Z & )il 2 (1.0Om|RSTH
19.5 [ 17.5 | 19.0 | 19.0 19.5 | 13.0 | 18.5 | 20.8 | 18.6 | 18.4 1 20.9 |[EH I 3 (KRB |ACT7H
21,41 19.2 | 20.3 | 20.9 |& % )il 3 (0.5m)|RST7H
21.7119.8 | 20.8 | 21.0 |& % )il 3 (1.0m |RST7H
18.6 | 18.6 | 19.8 | H Il 4 (RB)|RCT7H
18.7 | 18.7 | 19.7 | & )l 4 0.5m)|[RT7A
18.9 | 18.9 | 20.3 [ & )il 4 (1.0m) |[ROT7A
18.0 | 18.0 | 20.3 | H )5 (RB)|ACTH
18.3 1 18.3 1 20.1 |& % ) 5 (0.5m|RLT7H
18.9 1 18.9]1 20.4 | % )i 5 (1.OM|RZTH




(4] & #» No. 1
H23 H24 H25 H26 H27 H28 H29 H30 H30 R2 106 R3 3
10/31 | 10/24 | 10/23 | 10/21 | 10/20 | 10/25 | 10/25 | 10/23 | 10/23 | 10/20 | =y | 10/19 AH
30.2 | 31.1 ] 30.3 | 30.3 3141 29.7|29.8|30.6 | 31.5] 30.6 # FloHh A
30.7130.7|30.9|31.4]30.2]|30.01|31.1]31.5]30.8]31.2]|= |77+
it a7 H A
30.9 30.9 =y b1 1|75 A
30.8 30.8 =y b 2| A
30.4 1 31.3|31.2(31.2|31.0|31.4|30.6|31.9|31.3[30.8|31.1]31.5|k # ® MIHA
= 1|75 A
= 2| A
31.6 | 31.6 31.2 | 31.2 3211 31.5]|31.6 s M B 1|74
31.2] 31.2 31.8 ] 30.9 3211 31.4]|31.6 s M B 2|74
31.5 31.2] 31.2 31.3 # s F| 7 5 A
B b 1|75 A
B b 2| A
B b 3|THA
31.3 |1 31.6 | 31.4 | 31.4 | 31.8|31.9 320 30.7| 320 32.2] 31.6 & I 1|yo/ Y
31.0 | 31.7 | 31.0 | 31.0| 31.9 | 32.0 | 31.9 | 30.8 | 31.6 | 32.2 | 31.5 & I 2|yn/ Y
3111 31.7 | 30.6 | 30.6 | 31.8|32.031.9]31.0| 31.8| 32.0] 31.4 & 3 3ym/y
31.6 | 31.5 | 30.9 (| 31.6 | 32.1 | 31.6 E I 4lyn/y
30.0 ) 30.6 |29.7 | 29.7 29.1 | 31.5120.9 | 31.5 | 31.1 | 29.4 Il N 1|yo/ Y
30.0 | 31.1 | 27.3 | 27.3 31.9 | 25.2 |1 30.5 | 27.7 | 31.9 | 29.2 Il N 2|yn/ Y
30.7129.4 | 30.6 | 30.6 28.3 27.1]130.9|31.6|30.6| 30.0 Il N 4lyn/y
28.0 24.6 | 24.6 | 30.9 295 [ 27.5]131.2 /0 B B @7H+
28.2 26.6 | 26.6 | 31.5 2821315/ B B @7HA
28. 1 26.4 | 26.4 | 31.6 2811316 |f0n B B Q7h+
313 |f1 B B @7HA
28. 1 24.7 | 24.7 ] 30.7 29.8 | 30.8 28.2 5 AP B
29.0 |1 31.3 | 25.4 | 25.4 | 31.6 | 31.0 | 22.2 |1 29.5| 29.8 | 30.4 | 28.6 | 31.6 |& = 1|yo/ Y
29.1 | 31.4 | 26.7|26.7|31.7|31.1|223]29.6|30.2|30.3]|28.9]31.6]|5 = 2|yn/ Y
29.2 |1 31.3 | 27.8 | 27.8 31.01 20.9 | 30.1 | 30.5| 30.8 | 28.8] 31.8 | B 2|yn/ Y
28.3 ] 28.3 28.3 ] B|7Hh A
28.9 28.5 1 28.5|32.0|31.9|16.1| 26.8 | 28.4| 31.0| 28.0] 30.3 |#& #t 1|75 A
30.8130.8|32.0(31.9|23.5|29.7|27.0|31.9|29.7]31.4|#& #t 2| H A
30.9|32.4|31.2(31.2]32.1]31.0|25.4)31.2|31.3|31.5]30.8]31.8 |+ A=A
9.4 [ 13.0| 84 | 8.4 9.4 | 0.0 25.2 1 18.8 | 11.6 | 25.8 |&=&H Il 1 (R B)|RSTH
25.6 | 19.1 | 22.4 | 25.8 |& % )il 1 (0.5m)|RST7H
27.7120.1 | 23.9| 25.8 |& % )il 1 (1.0Om|RST7H
129 [ 15.7| 7.3 | 7.3 19.6 | 0.0 [ 13.1 ]| 24.3]24.9(13.9]29.2 |EHIN2(XKB)|RSTA
25.2 1 26.5| 25.8 ] 29.3 |& % )il 2 (0.5m)|RTTH
27.4 1 28.7 | 28.0| 29.4 |Z % )il 2 (1.0M|RSTH
15,7 14.3| 7.6 | 7.6 2000 0.0 | 11.6 [ 21.2 | 21.1 | 138.2 ) 27.7 |E&H N3 (RB)|RSTH
25.2120.9 | 23.1 | 27.8 |& % Jil 3 (0.5m)|RST7H
25.2 1 23.4 | 24.3|127.9 | %l 3 (1.OmM|RSTH
18.5 | 18.5 | 26.4 | H )l 4 (RB)|RCT7H
18.6 | 18.6 | 25.7 |& & JIl 4 (0.5m)|[RT7A
2241 22.4]126.6 |E% )14 (0.0m|RSTH
18.0 | 18.0 | 27.5 | H 5 (RB)|ACTH
18.2 | 18.2 | 21.5 |[& % JI 5 (0.5m|RTT7H
22112211 21.7T |&E % Nl 5 (1.om|ROTA




